AP Chemistry




NAME _____________________________

Worksheet – Properties of Solutions – Colligative Properties
A solution is prepared by adding 31.65 grams of sodium chloride to 225 ml of water at 34 degrees ( Density of water at this temperature is .994 g/ml )  The Kb for water is .51 C kg/mole.  Calculate the boiling point of the solution, assuming complete dissociation of NaCl in solution.   Ignore the fact that salt doesn’t 100 % dissociate.

How many grams of glycerin must be added to 350 grams of water in order to lower the freezing point to  - 3.84  degrees C ( Kf = 1.86 C kg/mole ) ?

The osmotic pressure of a solution containing 26.5 milligrams of aspartame per liter is 1.70 torr at 30 degrees C.   Calculate the molecular weight of aspartame.

Repeat problem 1 from above but this time use the van’t Hoff Factor for NaCl . 
